MIDDLE VISE

Work Holding Fixtures for W-EDM

A work-piece fixture with high-accuracy V\[DDIEF VISE
positioning and short setup time.

> Ideal for small work-pieces.

> High flexibility in choosing installation place

compact design.

> After the work-piece is clamped, horizontal
and parallel adjustments are possible due to the
independent fine adjustment functionality.

> Two sliders makes it easy use to use.

Compact design

Height adjusting bolt

Levellng bolts

.

\ Rotating bolts

O
This product does not use a table ‘
corner, allowing it to be installed
in any place.Multiple pieces may m T
be installed. | - o ++ 7
Height adjusting mechanism
The clearance between the zero
level of the table and the level of the . .
workpiece can be set to 0 or 1 mm The Two-slider system allows you to set it
f\)\'/(ﬂ’ke?e" up anywhere.
Level of workpiece | \ Slider IrﬂMountmg T
Zero level of table t I\| Table |J
0~1mm
Standard set
CODE ]
| cope | B — o8 o
| MDV-501 | - -
(@@ Sl
Description ® ® —C ©

1. A complete set of main body
(Including 2 sliders and 1 jaw)
2. Allen wrench (1 each: 2.5, 4, and 6 mm)
3. 10 mm spanner (1pc.)
4. M8 mounting bolts and washers (25 ea.)

Specification Height
adjusting

. . . o bolt

This unit uses stainless steel that is highly - 7T

resistant to corrosion and wear. —
Maximum dimensions of work-piece| 130X 100 °
Maximum weight of work-piece 3kg e
Weight of main body bkg °
Material SUS420J2 S
Hardness 50HRC S

40

“_Locating rail

MIN.O~ MAX.130

230
150
100 Levelm bolt
Matching mark
4 Mounting bolt Swmg bolt
{% é
@i\ 3 SI|der lock
\
@ o1 v
= o f
Leveling bolt
Jaw ! Slider

‘20

-.MST

Workpiece
lock bolt

bolt

Level of Table
workpiece L»‘ zero line
0~1mm

ANGLE HEAD ‘

M/C Tool

HSK-T Tooling Systems
for Turning Mill

General Purpose
Tool

JIG

Measuring
Equipment

Maintenance Tool

Technical
Information

99



Optional accessories

)
<
w
T
g | Model No. | Dimensions ‘ work-piece size
4
<
Extension Jaw JAE-501 28 20
For large work-pieces i -
© % \ ~170
g I [ &7@ ~10f.
s \d= =
@ Y > ‘ /
~ | i
3 ‘_MS tap r
2 8 Lg
3) 2.6]20 25 MIN.0~MAX170_|
=

L Slider SRL-501
For small work-pieces

10

93

70

15~60
Y

- i
20 % -
60 6~30

HSK-T Tooling Systems
for Turning Mill

V Slider SRV-501
o For round work-pieces
"g’ """" $20~70
)
ED
[ L
o = - =%
I *_bolt ‘
120
o Sandwich Slider SRS-501
> For small and
thin work-pieces ~60
e
6~20
23
g
Clamp on Slider SRC-501
— The work-piece
S can be clamped to ®) 130
o the jaw using the M5 tap 130
Q clamper. { &
© The extension plate ©
§ can also be used. 11 L] 18~35
£
©
= *

Extension plate

o
S
3
=
X
e
=
[=]
w
o
=

Technical
Information

100 -.MST



Wire Cut Unit

Work Holding Fixtures for W-EDM

A work-piece fixture with high-accuracy
positioning and short setup time.

> A work-piece having a datum surface
can be accurately attached by merely
affixing it to the wire cut unit body.

> You can clamp a work-piece quickly.

> After the work-piece is clamped,
horizontal and parallel adjustments
are possible due to the independent
fine adjustment functionality.

Wire Cut Unit set

"WIRE CUT UNIT

Leveling bolts

Leveling bolts

WCU - A set

-, i oo oe 'E
f LLI-
? : Pr—

Y r -g8 g
s040 33 I = . —
WCU-C set

1=
#680%3}@ L

Extension Plate (Optional accessories)

%The right side is the state where set contents are stored in the case.

Case is not included.

PTE-001

PTE-002

A

Iso f&$= MEH

100

-.MST

ANGLE HEAD ‘

M/C Tool

HSK-T Tooling Systems
for Turning Mill

General Purpose
Tool

‘ JIG ‘

Measuring
Equipment

Maintenance Tool

o
S
3
=
X
e
=
[=]
w
o
=

Technical
Information

101



ANGLE HEAD

M/C Tool

HSK-T Tooling Systems
for Turning Mill

Examples of use

Set Contents

Leveling bolt »

(3 locations)

Clamper __—¥

Y,

Mounting bolt,
Disc spring

Square work-piece - Side Clamp

Datum face B

Small round work-piece — Side
Clamp with the extension plate

Base plate

Datum face A

Locate rail

Extension plate

Model No. (Option)
PTE-o01 PTE-002
Base plate = 1 pc. 1 pc. 1 pc. — —
§ Extension plate PTE-001 1 pc. 1 pc. 2 pcs. 1 pc. —
o
é—o (Only plate) -002 — 1 pc. 2 pcs. - 1 pc.
E'g Clamper CLP-101 4 pcs. 6 pcs. 10 pcs. 2 pcs. 2 pcs.
[
§ -102 4 pcs. 6 pcs. 10 pcs. 2 pcs. 2 pcs.
-201 1 pc. 2 pcs. 3 pcs. - 1 pc.
Grip GRP-002 2 pcs. 2 pcs. 2 pcs. — —
Adjusting bolt AJB-M6-L B
. (L= 30, 50, 80 ) 1 ea. 2 ea. 3 ea. 1 ea.
5 Stud bolt STB-M6-L _
(L= 40, 50, 70, 90 ) 1 ea. 2 ea. 3 ea. 1 ea.
Cap bolt L=16, L=16, L=16, L=16, L=16,
M6 x L 20, 20, 20, 20, 20,
25, 25, 25, 25, 25,
o - 30, 30, 30, 30, 30,
€5 35 4 ea. 35 6 ea. 35 10 ea. 35 2ea. 35,
'3‘ E L=40, =40, L=40, 40,
g3 50 2ea. 50 4 ea. 50 6 ea. 50 2ea.
=uw
Set screw (Kultopp) _ _
M6x30 1 ea. 2 ea. 3 ea. 1 pc.
_ Nut, Washer M6 - 2 ea. 4 ea. 6 ea. — 2 ea.
[
2 Hexagonal wrench, _ . _
3 spanner 1 set 1 set 1 set
&
c
[
£
° 240 Mounting bolt @
E - - -
Specification I I e
© 5 =T+ - ) ]
*E This unit uses stainless steel that is ® ? - e |
; highly resistant to corrosion and wear. aﬂﬂm**“f’ | 12’5%,
i N I
a Max. work-piece dimensions [ 160mm(6.30")X 160mm(6.30") 10-M6tap ‘ 72| 10
.g Max. work-piece weight 15kg(33lbs) 160 ;:I$
S Main body weight 4.3kg(9.5lbs) 25Li
Material SUS420J2(Stainless steel) PN 5-M6 tap
e Hardness 50HRC 5 o
g.‘g 160
< g Datum surface squareness
S5 M_L[A)[B] 5 11m(.0002)/100mm(3.94") B oA SMop
= £ @ J_ L T o606 - | Work-piece bottom surface = Zero level of table
70 7 g
S Locate rail
L
102 EvsT




	Cover
	Master Index
	ANGLE HEAD
	ANGLE HEAD HALF
	STANDARD type

	M / C Tool
	DETa-1 Collet Holder
	COLLET HOLDER
	Hi-ART MILLING CHUCK
	SUMMIT
	FMH RIGID type
	RED SCREW arbor
	Cutter arbor with spindle-through coolant(FMH)
	MICRO HEAD
	Retention knob

	HSK-T TOOLING SYSTEMS 
	Universal Facing Boring Head
	SMART GRIP
	Measuring Equipment
	Goo Checker
	Centering bar

	MAINTENANCE TOOL
	6S DESK
	CLEAN BOX
	TEST BAR CHECKMATE
	TOOL CAP
	Tool set up stand
	PALETTE
	ENDMILL HOUSE
	TOOL HOLDER STORING CABINET

	Wire EDM fixture
	MIDDLE VISE
	Wire Cut Unit

	Technical support
	PARTS(Wrench, Nozzle, Coolant duct)
	ANGLE HEAD HALF PARTS LIST
	Technical support
	Instructions for use
	For high-speed spindle rotation
	HSK SHANK
	Technical data

	INDEX
	OVERSEAS NETWORK



